LB-40-2 01/02/2008
LB-40-2
Macca (HeTT0) 31.8 Kg
Buemnne Pazmepni 430*330*350 mm*mm*mm

V3en wacoca LB40-3




LB-40-2 01/02/2008
V3ea Hacoca LB-40-2
K MpumeHsa- | [Mosnuyma B
oA HavmeHoBaHue
€eMOCTb | geTanvpoBke
11131005 |Bont wkusa M10x45(J1eBOCTOPOHHMI) 1 1
11124001 |LanbGa ctonopHasi NeBOCTOPOHHsAS P 8 1 2
21213002 |LWlan6a ¢38 1 3
21212003 |LWkus LB40 1 4
11131004 |Bonrt kpennexHns M8x25 4 5
11123003 |I'paBepHas wanba ¢ 8 28 6
21113004 |lMepegHasa Kpbiwka 1 7
21177005 |9dukcaTop canyHa 1 8
21166001 |CanyH 1 9
21152003 |[Mpoknagka nepegHen KpbILWKn 1 10
21161004 | CanbHuk 1 11
21134001 MogwwnnHuk 62057 1 12
21136001 CermeHTHas LUMOHKA 1 13
21131005 |KoneHBan 1 14
21111011 |KapTtep 1 15
21169001 lMpobka cnvBa macna 1 16
21164002 MacnoykasaTtenb 1 17
11131001 |BonTt kpenneHus Kpblwkn M6x20 3 18
11123002 |I'paBepHas wanba 6 3 19
21112003 |3agHss KpbiwKa 1 20
21155001 IMpoknagka 3agHeun KpbILKK 1 21
21134003 MogwmnHuk 6205 1 22
21167002 [Mpobka 3anuBa macna 1 23
11133001 |Bont macno pa3bpbisruearens M4x10 3 24
11123001 | LUanba ctonopHas ®4 3 25
21163001 Macnopa3sbpbl3rmBaresb 3 26
21132005 |WatyH 3 27
21143002 Maney nopwHa ®14,5x57,5 3 28
21141003 |lMopweHb P65 3 29
21144002 CtonopHoe konbuo $14,7 6 30
21145003 KomnnekTt koneu 65 3 31
11141001 |Wnunbka M8x35 12 32
21153001 |lNpoknagka umnuHap — kaptep P65 3 33
11111002 |lavika M8 12 34
21121004 | Uunungp $65 3 35
21151002 Mpoknagka 6510ka KnanaHoB HWKHAS P65 3 36
21124003 | KnanaHHbIU 610K 8 Komrnekme @65 1 37
21154001 |MMpoknagka 61oka knanaHoB BepxHas $65 3 38
21123003 "onoBka uunuMHapa 3 39
11132004 | Bont Bo3ayLwHoro punbtpa M8x30 6 40
11122001 |[MegHas wanba $8 6 41
21175002 | PunbTp BO3AYLUHLIN B cOope 3 42
11132006 | Bont kpblwku 6noka uunuHapos M8x50 12 43
11113001 |lavika ©14,5-27 1 44
21174003 | TpowHuKK 2 45
21171002 |Pagwnatop 2 46
21173001 | YronbHUK 1 47
21125013 | [MnacmuHbi KnanaHHble 8 KoMmraekme (2uwm) 1 37/2
21126002 | AntomMuHuesasi npokiadka 1 37/3
21177012 | lMampoH 8030ywiHO20 ¢huibmpa 1 42/2
V3ea nacoca LB-40-3
3amuacTu umeonue oranuusa or LB-40-2
MpumeHs- [No3nuua B
Kop, HanmeHoBaHune
EMOCTb | AeTanvpoBKe

11121011 | Warnba p8-dp38-5 1 3
21113011 |lNepeaHss Kpbillka 1 7
21178001 |dukcaTop canyHa 1/4" 1 8
21152001 |lNpoknagka nepeaHen KpbILLKK 1 10
21131013 |KoneHsan 1 14




LB-40-2 01/02/2008
21111026 |Kaptep 1 15
21164004 |Macnoykasatens G3/4” 1 17
11134002 | Bont macno pasbpbisrusarens M5x10 3 24
21162002 | Macnopasbpsbl3rusaTtenb 3 26
21132004 |lWaTyH ¢030-¢p14,5-108 3 27
21124010 |KnanaHHbI 6ok B koMmnnekte P65 M8 1 37
21174008 | TpoWiHMK 2 45
21171013 |Pagwmatop ¢p12x200 2 46




	LB-40-2

